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Lorenzens” Equation

26.7(664b — 665a) » V1

Chlorophyll a (mg/m?®) =
V2. L

26.7[1.7(665a— 664b) » V1

Phaeophytin a (mg/m°) =
V2. L

Where:

V1 :Volume of acetone used for extraction (ml).

V2 :Volume of water sample (L).

L  : Light path length or width for cuvette (cm).

664b : Optical density of 90% acetone extract before acidification.
665a : Optical density of 90% acetone extract after acidification.
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Mg chla . a per sample = 11.9[2.43(Db-Da)][V/L]
Mg phae . a per sample = 11.9(V/L)(1.7 Da) - chla.a
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Phytoplankton biomass (mg/m®) = Chlorophyll a * 67
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